Exercise 4.2
2. Solution: y» = e™.

11. Solution: y» = —1. Hint: integration by change of variable u = In x.

24. Solution: y, = ¢ xfédx =c (—1 +xlnx+-x2+—x3 +—x* + ) for x
: - V2 15 y2 1 2! 2(31) 3(41) ’

€ (0, ).

Exercise 4.3

12. Solution: y = e *?[cicos(x/2) + c2 sin(x/2)].

22. Solution: y = ¢| e* + ¢z xe* + ¢3 x%e*.

30. Solution: y =—+/3 cos@+sinf.

59. Solution: c[y'" — (11/2)y" +7y" + 5y 1 =0, for any ¢ € R\{0}.

Exercise 4.4

2. Solution: y = ¢1 cos (3/2)x + ¢z sin(3/2)x + 5/3.
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34. Solution: x =—

cos .

38. Solution: y = ¢z e* sin x + x.



